N = 0l & AHSE B Al M

SH MRS
B 2| (AMR=XIH)
crel: D=2 (S &)
i _ _ AT
S - 3 - SRA(SIH) - MRAY - BES Oif &FoH Ol] AkoH Hws2
At =X 14,156,144 14,337,389 A181,245
= 3,334,801
Xl 1,631,307
= 1,698,022
i 7,492,014
A2 ZH| (A =XI1) 29,690 29,320 370
Jl2&| 29,690 29,320 370
Jl2&| 29,690 29,320 370
201 LBt2Y| 18,890 18,520 370
01 At22teld| 16,390 16,120 270
Ogurrgl| 16,390
0 JIZAIREEY| 00,0002 192! 1,900
0 AFRI1D1 & SMES 9,500,000& 9,500
0 JIEt==EH| 1,000,000& 1,000
0 S2HI(ARI=TI VYD)
7,000&%1921%30 3,990
02 3223l 2,500 2,400 100
O 2222 ¥ MAl 2,500
0 2ER3 = 2,500,0002! 2,500
202 018 10,800 10,800 0
01 =LHOIB| 10,800 10,800 0
O ZoHI(Ss24l) 180,000 & x5 &+ 123 10,800
HEIX A (AR =XI1t) 4,200 4,200 0
PHER2S 4,200 4,200 0
REETE 4,200 4,200 0
203 22 Y| 4,200 4,200 0
VEREEEEESST] 4,200 4,200 0
L VELEEEES 350,000 122 4,200
SMEARESY 10,642,026 11,684,671 A1,042,645
= 2,701,276
Xl 1,261,307
o= 1,395,579
i 5,283,864
ESIENESE 60, 166 66,546 8,380
ZESAM+L 2 22 56,950 62,730 Ab5,780
201 LEr2 2| 2,450 3,430 A980
01 AtR2telt] 2,450 3,430 A980
OSH(BA=XYREA) 7,000&*501x70 2,450
202 018 12,000 16,800 A4,800
01 =LHOIH| 2,000 16,800 A4800

- 369 -



SN ME=XID
BE: MRS
SE T OESY (Sr9): 1)
. PSEL =
A -3 - SRA(ZH) - MRAY - BES Oll &+t 01l AroH HuESZ
OSA=NGSLH0IH 200,0008+501+128 2,000
203 L= 4,000 4,000 0
EPNEESSISEEST 4,000 4,000 0
OBA=R P2= 1,000,002 1,000
O EE =TS 1,000,00024 1,000
OATIZR] AtIZET 1,000,002 1,000
OLEAS YR 1,000,002 1,000
206 24| 2,500 2,500 0
RET] 2,500 2,500 0
OZ2{0R 7(HHDLIOK 25)
25021%10,0002 2,500
401 AIZBIZ 2T 36,000 36,000 0
01 A&t 36,000 36,000 0
OF5D J=WHFLIOH &X|
15,0002 % 29HA*1, 200 36,000
yezsie 3,216 3,816 2600
201 Yur2H| 3,216 3,816 2600
02 22234 3,216 3,816 AB00
03323 < WAl 3,216
0.XIE BYRY FIIR3 50,0002+ 122 600
0.XIE BYREY AL AFEER3
50,0002 122 600
0.251 2+AE MRS 50,0008122 600
MNFHBH JIRS FIIR3
65,0002 122 780
2HAFN ®|23 23,0002+ 122 276
siul DI2S4 J12S ®|23
30,0002+ 122 360
IEAEELAY 1,646,480 861,810 784,670
SMAEEY 979,670 0 979,670
201 Yty 1,470 0 1,470
01 AF= 22l 1,470 0 1,470
O BHI(=M2Y P2EX)
7,00021+321+702 1,470
202 o1t 9,200 0 9,200
01 =LHOIH| 9,200 0 9,200
O OHI(=MEY REX)
200,00021%301+ 122 7,200
O OlHI(=MUETS YPRER)
100,00024+201+ 102 2,000
303 & 5,000 0 5,000
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At =X
AMEARSS
IIELE T EA (cHel:&J)
A - FHB . GI(BH) - HRA - BES Aro e AimE=T
01 Z&at=2 5,000 0 5,000
O =MAE TAAIQ BIF AIAS
5,000,000& 5,000
401 AIEHIZL 2| 964,000 0 964,000
01 AlIEH| 960,400 0 960,400
O 89 234 ZEA 397, 120,000& 397,120
O Ot &2 Z4AY 22,000,0002*12740t= 264,000
O JIE4HE M=zt 10,000,000 *200H 2~ 200,000
O =22 =S4T 141x99,280,000& 99,280
03 A& 3,600 0 3,600
O S9% 2234 ZEA 400,000,000&*0.72% 2,880
O =22 =SATHAE 100,000,000&*0.72% 720
EAF LA 664,310 859,310 A 195,000
101 @1244| 10,000 30,000 /20,000
04 DI H2Z2 RS ES 10,000 30,000 /20,000
OINEMEITH QRAY 10,000,000& 10,000
206 H=H| 9,310 9,310 0
01 M=zl 9,310 9,310 0
Oitz2 &4ZE gEH| & 1=
3,500&*1,000% 3,500
OJI2% Y&l s 2,510
0.52UF A3Rre 20,0002 *x40S 800
0.8HSLI= JIAHIS 45,0002 +20& 900
0.MEH0HE &5 13,0002 *30H 390
0.89olZENE &7 6,000&*70= 420
O EsHolSLH AN 7L
11JHS24x300,000& 3,300
401 Al&HIZL 20| 645,000 810,000 A165,000
01 Al&HI 645,000 810,000 A165,000
O10t2 186 ZHAE (S & di3)
15,000,0002* 112 H*2IH A 330,000
O10I2 188 |A2=At 55,000,000 55,000
OUla XNS&XIA 10,000,000 * 1142 110,000
OJ2 & AZE Al=2te] 50,000,000& 50,000
OXter et EE 22 At 100,000,000 100,000
SUHALSEA 2,500 2,500 0
201 Ler2 | 2,500 2,500 0
03 A2 ZH| 2,500 2,500 0
OalsdaAZS 2,500,000 2,500
A 651,574 802,932 A 151,358
= 357,726
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S A
K| ZH -
(=

&l

e

Pz
0v QU U
>4
e {0 =
0x

[
$
P
rio

ek
A= ofl st e HIDS

S - T SRI(SIH) - HRARY -

0

5]

88, 155
205,693

M H

TEMBXIZ 651,574 802,932 151,358

357,726
88,155
205,693

HH

401 AlEHIZL S| 299,193 377,331 AT8,138

101,106
59,427
138,660

H A

01 Al&H] 274,669 346,783 AT2,114

O AH2ITHHEE X X2 (30ha) 160,328,000 160,328
28,293
39,611
9,424
2/(10ha) 114,341,000 114,341
56,426
17,375
40,540
02 221t 22,533 28,048 £5,515

O Z=g&HZeldl(45ha) 22,533,000 22,533
15,773
2,028
4,732
03 A2 =204 1,991 2,500 A509

O Ao XIxE SO 1,162,000& 1,162
205
287
670
O 2URSAxE 20l 829,000& 829
409
126
294

M

o 2u

10
0b
Jo
FA

M

U

HHH

M

402 RIFRHE0IA 352,381 425,601 AT73,220

256,620
28,728
67,033

HH

01 QIZEXtZ2AEE X 352,381 425,601 AT3,220

O ZHg=4(100ha) 352,381,000& 352,381
256,620
28,728
67,033

H A

=NHERIRS 1,502,000 825,000 677,000

300,000
462,000
740,000

M

i

>
T
o
1
o
08
il
00
b
o
0
B
0

500,000 130,000 370,000
150,000

H
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S A
K| ZH -
(=

&l

A=t
ARITIS A
S ECERES

0
T
[pal
0

S - BB R(SIH) - HRAY - BaS

=
12

Sl

[yl e

ol &rey

HIWES

0

M)

350,000

401 AlEHIZL 00|

M H

500,000

150,000
350,000

130,000

370,000

01 AIZE]
OZa=NFT &S ABATLAIY

500,000,000&

M H

500,000

500,000

150,000
350,000

130,000

370,000

M H

402,000

222,000
180,000

270,000

132,000

401 AIEHIZ S0

M

402,000

222,000
180,000

270,000

132,000

01 AlZHI

O sMASAA

122,000,000&

ZEZE AAIEH])

80,000,000&

200,000,000&

H

A

M H

402,000

122,000
122,000

80,000
40,000
40,000
200,000
60,000
140,000

270,000

132,000

RUN Rl

600,000

300,000
90,000
210,000

325,000

275,000

401 Al&HIZL 2 0HY]

M

600,000

300,000
90,000
210,000

325,000

275,000

01 Al&ZH]

O EAls A

59,220,000

03 AIZS0HH]
O EAlE ZEAMY 20|
600,000,000& *0.63%

M

H A

59,220

596,220
298,110
89,433
208,677
3,780

3,780
1,890

567
1,323

321,400

3,600

274,820

180

H>

IHIIAE X1

H A

3,621,364

1,809,682
534,502
1,277,180

4,338,603

AT17,239
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2 ARIEXID
H: MUNRSY
B9l ZIPRIIAIY K2 EER:E)
- _ _ po[E e
SA - ZH - SR(3H) - HIRAY - BaS ofl e e DS
= JIPIIAY XI 2,536,944 3,292,136 AT55,192
= 1,068,472
[ 380,541
2 867,931
101 Q1214 33,708 33,706 2
= 16,854
= 5,056
2 11,798
04 JRIRI2ZNEE S 33,708 33,706 2
O ARIXIRIZAFEH201) 33,708,000 33,708
= 16,854
= 5,056
2 11,798
401 AlSHILSHY 2,465,236 3,181,500 716,264
= 1,232,618
[ 369,785
2 862,833
01 AIZHI 2,380,539 3,078,700 698, 161
O & 12iI2k(500na) 887,302,008 867,302
=2 443 651
[ 133,095
2 310,556
O Z0HH171(500ha) 887,302,000 887,302
= 443 651
[ 133,095
2 310,556
O OIRILIRI13D| (50ha) 82,253,000 82,253
=2 41,127
[ 12,338
2 28,783
O Y2/ (100ha) 9,721,000 9%,721
= 48,361
[ 14,508
2 33,852
O ZH121(400na) 426,961,008 426,961
= 213,480
[ 64,045
2 149,436
02 22/l 68,284 90,000 ~21,716
O #eizyar2taldl(500ha) 30,000,000 30,000
= 15,000
= 4,500
2 10,500
O #0HHI71 22181(500na) 30,000,000 30,000
=2 15,000
= 4,500
2 10,500
O EHiDI22 8,284,000 8,284
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SN ME=XID
Ha: MRITASA
Sl SIHIIAMY X2 (et &)
S - I BR(3) - AIRAR - BaS ot e i D52
= 7,142
[ 1,242
[ 2,900
03 Al&2CHH 16,413 12,800 3,613
O AN 20l 5,816,000 5,816
2 2,908
& 873
o 2,035
O ==0tH01 =08l 5,816,000 5,816
= 2,908
= 872
= 2,036
O UL IHIIAIE 2T 747,000& 747
2 374
& 12
[ia 261
O G=HMHAIHRHYI 879,000 879
2 438
S 132
= 309
O SHIDIAFS FCHYI 3,155,000 3,155
= 1,578
S 473
o 1,104
402 212tX=01 38,000 76,930 /38,930
2 19,000
= 5,700
= 13,300
02 QIZtCHH AL 38,000 76,930 A38,930
O LB EAH &2 (2,500ha) 38,000,000 38,000
2 19,000
& 5,700
o 13,300
F2IHHO1 <2 DK =28 2EALY 1,054,420 1,046,467 7,953
=2 541,210
= 153,961
= 359,249
101 e121H] 897,244 897,244 0
2 430,122
& 140,136
= 326,986
04 JIZtH22 X SE+ 897,244 897,244 0
O AHHHI0IQ AT ES QI24H|(70Y)
897,244,000 897,244
2 430,122
= 140,136
= 326,986
201 deh= | 29,000 29,000 0
= 28,000
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SN ME=XID
BE: NRTIRSA
Shel: 2I1RIIANY IR (Sr9): 1)
FS[ELS =
S - 3 - SRA(SIH) - MRAY - BES Oll &+t 01l AroH HuESZ
= 30
2 700
IREEDI] 28,000 28,000 0
O sl A+TEE DSERY|
28,000, 0002 28,000
2 28,000
02 22| 1,000 1,000 0
O MEIHI0IQUA Alixies P82
1,000,002 1,000
= 300
2 700
401 AIEBILSCHY| 91,176 83,223 7,953
2 46,088
= 13,625
2 31,563
03 A& =CH 91,176 83,223 7,953
O QHIOIRMASTES S|
91, 176,0002 91,176
2 46,088
= 13,525
2 31,563
402 RIRHR=0IH 37,000 37,000 0
2 37,000
02 CITHHE AR 37,000 37,000 0
O AFIBIOIOHA RIRHCHEALRIY]
37,000, 0002 37,000
2 37,000
A=A SAIAY 30,000 0 30,000
201 Yty 30,000 0 30,000
01 AF= 22l 30,000 0 30,000
OB X 2 Elbl 7Y
30,000, 0002 30,000
NEEENEEE 71,308 84,016 A12,688
2 35,664
= 10,698
2 24,966
ARINBIAER 71,308 84,016 A12,688
2 35,664
= 0,698
2 24,966
101 e121b| 71,308 84,016 A12,688
2 35,664
= 10,698
2 24,966
SIEDIEE=T] 71,308 84,016 A12,688
O AENHIASRAY 71,308
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M =X
zu: MEEss
SRl A ZYRCIEE (cHel:&J)
. i, - PSEL= =
S - FE - B2I(3) - HIRAIY - BAS O et e Rz
0 =a&oH(1Y) 14,256,000& 14,256
= 7,128
& 2,138
i 4,990
0 =Mej2elel(2y) 28,512,000& 28,512
= 14,256
& 4,276
i 9,980
0 SAl=sXZel2(1H) 14,256,000& 14,256
= 7,128
& 2,138
o 4,990
0 =2ZHMEXZAH1Y) 14,304,000& 14,304
= 7,152
= 2,146
o 5,006
AT AIE 1,026,043 1,191,317 A165,274
Xl 461,307
& 98,852
= 465,884
S&t2 I E| 225,472 106,432 119,040
201 LEH2 | 35,472 16,432 19,040
01 AtR2telt] 24,372 4,372 20,000
O =diZ 2HHdH 2425+
150,000&*12& 1,800
O SdIZetiMdE R1ZHl 23
156,000&«12& 1,872
O Sétz HIIZol(HAHH) =X =57
100, 0002 *7CH 700
O S&t2 ol MXF M 20,000,000& 20,000
02 2223l 11,100 12,060 A960
O SdiZAEHH 23| 6,900
0 SdlZeHHdH M2z 330,000+ 12& 3,960
0 SIZHHHH Aot=ER2
20,0002+ 12& 240
0 SdIZeHHdEH SAR3 150,000« 12& 1,800
0 ScllZoHHMIE ] 100,000&*5& 500
0 SdIZ 20134 FstEXell
100,000 & x4 4 2 400
O Sat2 HIGoP(HoA) &2
50,0002 *7CH*12& 4,200
401 AIEHIZL 048I 190,000 90,000 100,000
01 Al&HI 189,460 90,000 99,460
O SUZEHIDI(272km) 30,000,000 30,000
O H2ASAZEY] 50,000,000& 50,000
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SN
IﬁiH;
CH2:

0
J0
[l
0

S J . C(FH) - N

Al - B

NMEE

[l .

Gil &8

HIWES

o

A
1&*49,460,000%
60,000,000

50,000, 00024+ 1.08%

49,460
60,000
540

540

M

659,011

461,307
98,852
98,852

933,325

N2T74,314

101 21244

M

23,397

16,377
3,510
3,510

15,610

7,787

WSIE EENEEES

2| (3

~

23,397,000&

M=

23,397

23,397
16,377
3,510
3,510

7,787

401 AIEHIL 200

M =

635,614

444,930
95,342
95,342

917,715

A282,101

01 AlZHI

O AFEEAHHI(1.0Km)

217,370,000

M A

268,276,000

M=

66,194,000

RULIE=

67,077,000&

M A

12,781,000&

H A

1,376,000&

fal

631,698

217,370
152,158
32,606
32,606
268,276
187,794
40,241
40,241
66,194
46,334
9,930
9,930
67,077
46,953
10,062
10,062
12,781
8,947
1,917
1,917
3,916

1,376
964

911,936

5,779

280,238

1,863
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SH MRS
LI
chel: T Al (=L
3 _ _ MEC
S - ZE - SI(S1H) - HRAY - BAS 0] apot Sl o HlRE2
= 206
fiis 206
O AT ad 20| 1,700,000& 1,700
Xl 1,190
< 255
i 255
O YEFHSAIS LI 417,000& 417
X 293
& 62
= 62
O LEEAt 20| 423,000 423
Xl 297
& 63
2 63
UEHEX & RANES 141,560 151,560 210,000
201 k2| 1,960 1,960 0
01 At22teld| 1,960 1,960 0
O3THI(LRITE| YRER)
7,000 %401x70 1,960
202 (44| 9,600 9,600 0
01 =LHOYI 9,600 9,600 0
OOlHI(ARIZE] RER)
200,000 *401x 122 9,600
401 AlEHIZ 048I 130,000 140,000 A 10,000
01 AlZHI 130,000 140,000 210,000
OLERTINSAS 20,000, 000& *5km 100,000
OLUT EHIDI A (195Km) 30,000,000& 30,000
SMOoI=XIA 379,150 617,240 A238,090
= 76,350
= 29,400
i 273,400
S MAF XA 200,000 200,000 0
402 2I2EXHE01 M 200,000 200,000 0
01 IZEAEAMPE X 200,000 200,000 0
O MATS(SYAARLS 28)
200,000,000& 200,000
HIISUHESAS 174,000 212,440 238,440
= 76,000
= 29,400
= 68,600
402 RI2EXHE0(1 M 174,000 212,440 A38,440
= 76,000
& 29,400
= 68,600
01 QIFTEAMHE L 174,000 212,440 238,440
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SN ME=XID
BE: ANRTIRSA
SE A=Y S (Sr9): 1)
3 _ _ MEC -
S - FE - B2I(3) - HIRAIY - BAS O et e Rz
O B A (FE B2 )
220,000, 00024 +70% 154,000
= 66,000
= 26,400
2 61,600
O AFIHIOI 0 A AN (ERIBOIA| S 8)
20,000,002 20,000
= 10,000
= 3,000
2 7,000
I EEEINIPEPY 4,800 4,800 0
402 RIRRZ01E 4,800 4,800 0
01 SIIEAEES 4,800 4,800 0
OZQIBOINLE BIBAAA &1
671 24+800, 0002 4,800
By SIESE 350 0 350
2 350
202 1t 350 0 350
2 350
01 =LHoTH] 350 0 350
O SHBR2I(721) 50,00021+721 350
350
Yp2ASTIE 1,415,763 2,200,172 793,409
= 386,010
X 500,000
= 164,999
7 2 364,754
NEETE 422,362 280,600 141,762
= 227,910
= 58,334
2 136,118
402 DIIRIZ0I A 422,362 280,600 141,762
2 227,910
= 58,334
2 136,118
01 ST EAEES 422,362 280,600 141,762
O LMSAESITIR(LH) (674)
174,294, 0002 174,204
2 87,147
= 26, 144
2 61,003
O YUSABIRIA(YBSUCS)2HA
100,372,002 100,372
= 66,915
= 10,087
2 23,420
O LA2IFBTIR(100CH) 67,980, 0002 67,980
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S A
K| ZH -
(=

&l

[
$
P
rio

HEE

S - ZE - SI(S1H) - HRAY - BAS O st e HlRE2
= 33,990
= 10,196
= 23,794
O a2 M&E L AZTAIE(20004)
71,716,000 71,716
= 35,858
& 10,757
i 25,101
O Y2 RSIIEHXIA(HSER) 1T
8,000,000 8,000
= 4,000
& 1,200
i 2,800
a2 ASKA 293,401 248,572 44,829
= 158, 100
= 46,665
= 88,636
402 QIZHRHE0| A 293,401 248,572 44,829
= 158, 100
& 46,665
= 88,636
01 BIP N EANTEE 293,401 248,572 44,829
O ArAMADEEOIHIE (1004)
112,263,000& 112,263
= 44,905
& 20,207
i 47,151
O HEIDTHEHAIE (200 2) 29,311,000& 29,311
= 14,655
& 7,328
i 7,328
O Hetel AFISE-ASE(101L) 64,000,000& 64,000
= 40,000
& 7,200
i 16,800
O AMSXSMACTZH(70L) 24,320,000& 24,320
= 12,160
& 6,080
i 6,080
O REXIELIMNZ(2ha) 8,550,000& 8,550
= 6,650
o= 950
o 950
O ZA (o) ESH 7,471,000 7,471
= 5,811
& 830
i 830
O dMI2geol &S AR (1)
47,486,000 47,486
= 33,919
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SN ME=XID
Ba: MNRIX

o
Rl AAEA

0
0
T
]
0

el
= tlimES

S - ZE - SI(S1H) - HRAY - BAS (] Ol Ao

=
12
0

4,070
9,497

M HT

AEZZ 3G 700,000 1,680,000 980,000

500,000
60,000
140,000

H

402 BIF =01 700,000 1,680,000 980,000

500,000
60,000
140,000

M

ENS 700,000 1,680,000 980,000

=
O &EZZ 33 700,000,000& 700,000
500,000
60,000
140,000

M A

AEASAIS 134,288 567,275 N432,987

35,844
6,973
91,471

Mo A

2L X ASEHA 75,200 75,200 0

t20I1AM 75,200 75,200 0

tEAIEE X 75,200 75,200 0
= XI&(1,600&) 50,000,000 50,000

21,000& = 1,200ha * 12 25,200

LRl 59,088 492,075 NA432,987

35,844
6,973
16,271

HHA

402 BIF =01 59,088 492,075 A432,987

35,844
6,973
16,271

H W

01 QIF=EAMHE S 59,088 492,075 N432,987

O gueL-g=22((30ha) 2,068,000& 2,068
1,034

310

724
O & T&SRZEY X2 (540H) 30,340,000 30,340
15,170
4,551
10,619
O & HHZAIAXI(10km) 4,000,000& 4,000
2,000

600
1,400
LR E 2FIHZF(900ha) 22,680,000 22,680

AW H

HH A

O

- 382 -




SN ME=XID
BE: NRTRSA
cHel: MEIASAY (Sr9): 1)
. i, - PSEL= =
S - FE - B2I(3) - HIRAIY - BAS O et e Rz
= 77,620
= 1,512
2 3,508
Ye REXA 133,870 120,760 13,110
S 58,870 43,760 15,110
201 Yty 36,670 2,160 24,510
01 AF= 22l 32,670 8,160 24,510
O wsrgt| 1,200
0 Yi2 EHE 2ABUHE
2,0000+60021 15 1,200
O 2HI(MEASYDRET)
7,00021+301%702 1,470
O 2RO B2I(ZY442 ¥ BHHTY S
2H) 30,000,0002! 30,000
03 A2 | 4,000 4,000 0
O UNSHAITOH HAEO(ZH, H23IS)
2,000,008 * 23l 4,000
202 1t 9,200 11,600 £2,400
01 =LHoIH] 9,200 1,600 ~2,400
O MEASADLHOHE  200,0002x301% 128 7,200
O Lo B0 22 6Bl 100,0002%221%103] 2,000
206 28| 2,000 2,000 0
01 THEH] 2,000 2,000 0
P ET 2,000
0 MAZEE Z27Y 5000810520 1,000
0 MAEEE Ya2 7 50,00024+207H 1,000
01 LB BAS 8,000 6,000 2,000
09 EAALI S &S 8,000 6,000 2,000
O A=A 8,000
0 2 AFSASAIFE AR 1 RS B
50,0002 * 431 202 4,000
0 AARHERAIBI D218
50,0002 * 23] * 402 4,000
307 21201 F 3,000 3,000 0
04 DIZFEAAIL B F 3,000 3,000 0
O PRIMAIEE 3,000
0 HEAI AHIR AILIZ HEBSAL
3,000, 0002 3,000
SNEEEEINS 29,000 30,000 A1,000
201 Br2Y] 4,000 5,000 A1,000
03 EAF= | 4,000 5,000 A1,000
O HIME A2 2 0BIE 4,000,002 4,000
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2A: AE=sX
Mz MRS
SR AME RSAA (CH9): HSl)
i PSIEL -
A - M S(SH) - MEAIY - BES 04| AroH lOﬂ/l\_l-OH Hlus2
402 QIZEXH20| ™ 25,000 25,000 0
01 QIZFAIE2 AR E X 25,000 25,000 0
O I2EX=01H 25,000
0. EDHA ZXEBIARIZE 5,000,000 5,000
0.0F =2 YR XI2 20,000,000& 20,000
Keldr MAEZ2ASK 35,000 35,000 0
307 2I2t01A 35,000 35,000 0
04 DIZFSHAIAIE 35,000 35,000 0
O Rielak pArE 225 H| 35,000,000& 35,000
Kelat D24 ¢4=H L AISS 7,000 7,000 0
307 QI2H0| A 7,000 7,000 0
04 BIZISHAAIA B X 7,000 7,000 0
O Xeldt D24 21 &L AIS3S
7,000,000& 7,000
Xelat M-I E2X3 4,000 5,000 21,000
307 2I2t01A 4,000 5,000 21,000
04 QIZFSHAIAIE 2 X 4,000 5,000 A1,000
O Xleldt MEXF EBXA 4,000,000& 4,000
AMESAZSISELMENEN 3,480,228 2,619,198 861,030
= 633,525
Xl 370,000
= 302,443
= 2,174,260
EELES 308,782 295,333 13,449
= 188,679
= 35,689
= 84,414
A SH XA 294,392 255,170 39,222
= 181,484
= 33,531
iy 79,377
101 2124d| 87,520 87,570 AB50
= 43,760
= 12,817
= 30,943
04 DIt HI2Z2XSES 87,520 87,570 250
O OlZ ZHMSH(1e) 87,520,000& 87,520
= 43,760
= 12,817
o 30,943
201 LBH2HH| 5,000 5,000 0
= 2,500
& 750
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2AM ME=XD
M MNESUARSISTUMEEZ A
o MEYEAS CERE)
- _ _ bl E =
2A -3 H2(3H) - H2EAY - BES 04| AroH lOﬂE"_)—I,ﬁ Hlns2
o 1,750
02 S=234| 5,000 5,000 0
O HE. gMe 298I 5,000,000& 5,000
= 2,500
= 750
= 1,750
206 M=H| R4 284 640
= 462
== 139
= 323
01 =4I R4 284 640
O Oz 2He SRS 2 (100) 924,000& 924
= 462
& 139
= 323
401 AlZHIZL204d| 195,402 156,368 39,034
= 131,989
= 18,993
- 44,420
01 Al&HI 194,402 156,368 38,034
O AURIHEEY DAM=2MHES THH(2,600
2) 141,857,000 141,857
= 99,300
= 12,737
o 29,820
O AURTHEEY LISZAH(5ha)
12,244 ,000& 12,244
= 8,571
= 1,102
= 2,571
O 2URMMEEY sSsSH(EIOIE22EL|S)-
160ha 7,701,000& 7,701
= 6,928
= 232
= 541
O EURAISSYHEH(TINSMAH)- 2ha
4,397,000& 4,397
= 2,307
& 627
= 1,463
O BURAISSEYH(ZLZ0|EEE)-18ha
17,910,000& 17,910
= 8,955
= 2,686
= 6,269
O JIElHE XA HI(20na) 3,690,000& 3,690
= 1,926
[ 529
= 1,235
O MERDIEHAEE (30 A) 6,603,000 6,603
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SN ARSI
HE: MNERURSSHUMEHBH
chol: AR THOHO (Er9): &)
3 MEC -
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HwE2
IBIEERE] 850 850 0
OMZAE &9 24t 30,0002+ 121103 300
OBl IR A 50,00024+521 250
OLLISHES A4 100, 00024321 300
401 AlEBILSCHY| 51,000 0 51,000
01 AIZE] 51,000 0 51,000
O Mot WHS HH ARRI(51%F)
1,000,00021%512 51,000
AEEAES 174,572 296,227 A121,685
308 RXISHHISOIH 174,572 296,227 ~121,685
07 RASHARES 174,572 296,227 A121,685
O AXIAH(1ha) 7,290,002 7,290
O HELHAR (1kn) 17,190, 0002 17,190
O AFSAIZERZS T 1014 363,002 363
O AFSXIZ 2 (20HA) 378,002 378
O A7) 142,300, 0002 142,300
O ArERiI2)(6)HA) 3,780,0002! 3,780
O AMEISETOIHTINA) 2,471,002 2,471
O APRAE 2 (200HA) 80,0002 800
AAFEH O 2 EF 55,772 0 55,772
= 39,040
= 11,712
2 5,020
101 Q124H] 46,172 0 46,172
=2 3,320
= 9,792
2 4,060
04 IRIN22NEE 46,172 0 46,172
O AAERS ZOIEr QI21HI(SHEH D, HRI3S)
Q1P| 2 & BT =HI DRI 46,172,002 46,172
= 3,320
= 9,792
2 4,060
201 Br2H| 8,100 0 8,100
2 5,670
= 1,620
2 810
01 AFR22IH] 5,400 0 5,400
O MM Z0IE Rxt 5,400,0002! 5,400
2 3,780
= 1,080
2 540
02 ZZ2YH| 2,700 0 2,700
O MR 2,700,0002! 2,700
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SN AEERID
M N EYRHEAYMEEH
SH2l: AP THGHON (B9l =)
3 _ _ MEC -
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HlnsSZ
= 7,890
< 540
= 270
206 M2 1,000 0 1,000
= 700
= 200
= 100
01 MEH] 1,000 0 1,000
O +YX 7| 1,000,000 1,000
= 700
< 200
2 100
401 Al H1 L2 0HY] 500 0 500
= 350
< 100
= 50
01 AI&H] 500 0 500
O ARSI B0 SOpH| 500,0002 500
=2 350
< 100
= 50
AHES 1,632,653 1,483,036 149,617
= 285,806
= 128,613
2 1,218,234
ME0Y L XBBS 745,866 701,260 44,606
101 Q1248 680,246 636,370 43,876
04 JH2 NS4 680,246 636,370 43,876
O/ 21| 680,246
0.AFZZAIR OIAH]  44,64021+6501+1802 522,288
0.AFSZAIY FX4Y  44,64021+65014262 75,442
0.AZZAIR AEEE
597,730, 00024x4.000% 23,910
0.4BLAH HLBHE
597,730, 00024+3.035% 18, 142
042NN NERHE
597,730, 00024%1.300% 7,771
0.AZZAIR 2012
597,730, 00024x4 . 500% 26,898
0. AZ2AIR TOIRE)|IBURER
18, 142, 00023.275% 595
0. 42 st= 7 70,00024%659! 4,550
04258 BX7Y 10,00024%650! 650
201 Yeteg| 49,720 48,890 830
01 AFR2elt] 27,660 27,670 A0
OgstagH| 8,200
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M =X
R P E I SR
(= A== N (cHel:&J)
. i, - PSEL= =
S - B S9(3IH) - ARAY - BES O et e HlRE2
OMEZNER A4 50,0002 *10€! 500
303 ZA3 4,500 2,300 2,200
01 Z&32 4,500 2,300 2,200
O& 22X Alda 4,500
0.x2= 2,000,000& = 1JHESH 2,000
0.2 = 1,000,000& » 20H&5H 2,000
0.2 o 500,000& * 1JHSH 500
AERX CHEXI2 714,515 625,063 89,452
= 285,806
& 128,613
= 300,096
101 @1244] 502,595 467,473 35,122
= 201,038
& 90,467
= 211,090
04 DI H2Z2RSES 502,59 467,473 35,122
O AM=SHEZOHLESIHH(60Y) 405,000,000& 405,000
= 162,000
& 72,900
= 170,100
O M=HZUYRISH B8 Z(60Y)
72,495,000 72,495
= 28,998
& 13,049
= 30,448
O MESHSUYRISIH =&4-2H6Y)
1,500,000& 1,500
= 600
= 270
o 630
O MSHSULRSN 22=(502)
400,000 *59H 23,600
= 9,440
< 4,248
= 9,912
201 LBt2E| 52,760 48,555 4,205
= 21,104
& 9,497
= 22,159
01 AFS-2teld 25,495 24,290 1,205
O =&t 5,495
0 MFEXISSAIHI(916Y) 5,495,000& 5,495
= 2,198
= 989
[ 2,308
O A=Y ESXHEH(50H) 4,000,000 *5CH 20,000
= 8,000
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A A=
FM: MEFARSISEULMEEH
= B2 ON (CH9): HSl)
i PSIEL -
S - 3 - SRA(SIH) - MRAY - BES Oif &FoH loﬂ/'\_;ou HwEZ
= 3,600
fiis 8,400
02 Z524| 27,265 24,265 3,000
O AERQZAIPHHCIRXIE2 404
8,000,000& 8,000
= 3,200
= 1,440
= 3,360
O MEZAIE AXZHAIAR(S4Z) 11504
14,950,000& 14,950
= 5,980
= 2,691
fiis 6,279
O M=SZEEXE FRUGH) 4,315,000 4,315
= 1,726
< 7
i 1,812
202 04| 4,960 4,600 360
= 1,984
= 893
i 2,083
01 SLHOAYI 4,960 4,600 360
O &EX3ESH|(248Y) 4,960,000& 4,960
= 1,984
= 893
i 2,083
401 AlEHIZ 048I 70,000 21,235 48,765
= 28,000
= 12,600
= 29,400
01 Al&H] 69,460 21,235 48,225
O LSZAAIE(1HL) 10,000,000 10,000
= 4,000
= 1,800
[ 4,200
O L= eIZAIPHH et X 59,460,000& 59,460
= 23,784
& 10,703
= 24,973
03 AIZ2=R0Hd| 540 0 540
O L=RIZAIPHH 2t XIS CHY| 540,000& 540
= 216
= 97
i 227
405 XS4 84,200 83,200 1,000
= 33,680
& 15,156
= 35,364
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BA: A=
HM: MNUSARSZUMESA
29 d=ad (Sr9): 1)
- _ _ PlEL=
2 - F32 . H2A(ZH) - HI2AY - BHES 04| AroH loﬂnou Hnsz2t
01 AL SEFSH| 84,200 83,200 1,000
O AH2IHQIRISHEH| 21 (600H) 30,000,000 30,000
= 12,000
= 5,400
= 12,600
O EUHELAI| X (4DH) 3,200,000 3,200
= 1,280
[= 576
= 1,344
O LHE2RIBERH(ICH) 51,000,000 51,000
= 20,400
= 9,180
= 21,420
AERIG 2E2 172,272 156,713 15,559
308 XHXISHHSOIA 172,272 156,713 15,559
07 AXISHHZIRE 2 172,272 156,713 15,559
O AFEXIEED|IUXRE 2 167,250,000 167,250
O Ar2xI0l”d Ns L I 2oz
5,022,000 5,022
BHEHAHE S ALY 171,429 120,000 51,429
= 120,000
[= 15,429
= 36,000
BHEHUHASKIRAIY 171,429 120,000 51,429
= 120,000
[= 15,429
= 36,000
402 QIFRE0|E 171,429 120,000 51,429
= 120,000
[= 15,429
= 36,000
01 BIZEXH= A 2 X 171,429 120,000 51,429
O BHEHZE ZOASTIAAY 171,429,0002 171,429
= 120,000
[= 15,429
= 36,000
ATt =R 99,769 109,769 210,000
Xl 20,000
[= 6,000
= 73,769
SSLHHIAIY 59,769 59,769 0
401 AlEHIL S0 59,769 59,769 0
01 Al&H] 59,769 59,769 0
2SEHYIAI(132) 59,769,000 59,769
SarZES R 40,000 50,000 210,000
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SH MRS
HE: NUSUSHSUMEEH
Chel: MRITRIERD) (=EEE))
3 _ _ MEC
S - ZE - SI(S1H) - HRAY - BAS 0] apot Sl o HlRE2
N 20,000
= 6,000
= 14,000
401 AlEHIZL 048I 40,000 50,000 210,000
X 20,000
< 6,000
i 14,000
01 AI&H] 40,000 50,000 A10,000
OMIAEIA S42 FHI(1.3m)
40,000,000 40,000
Xl 20,000
= 6,000
= 14,000
NEESTETE e 982,401 143,483 838,918
Xl 350,000
= 105,000
i 527,401
SLE=SIETY 700,000 100,000 600,000
Xl 350,000
& 105,000
= 245,000
401 AIEBIL Y| 700,000 100,000 600,000
Xl 350,000
= 105,000
= 245,000
01 Al&HI 695,590 100,000 595,590
O stEHFAE Z2HAY 695,590,000 695,590
Xl 347,795
& 104,339
= 243,456
03 AIES20HHI 4,410 0 4,410
O SIUNIeIEYE B 2Ot
700,000,000&*0.63% 4,410
Xl 2,205
= 661
i 1,544
xR = &4 100,000 0 100,000
401 AIEBILS Y| 100,000 0 100,000
01 AI&H| 100,000 0 100,000
O Jl=iE ¥ Egs AEs
100,000,000 100,000
e 2l 182,401 43,483 138,918
101 @1244| 48,401 13,533 34,868
04 D122 SES 48,401 13,533 34,868
O MEiz(2=, £8) 22 o=y 48,401
0 Jl12= 44,6403 +200+4H 35,712
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S ARSI
B AR BURHENUMEEA
ol ARISUREITARA (=ECR-E))
S - B - C9(S0) - HRAKY - BaS o4k o HlmS2t
0 =X=g 44,6402 *40L+4H 7,143
0 AHHEE 42,855,000 4% 1,715
0 HZ=EE 42,855,000 *3.035% 1,301
0 NEZE 42,855,0002*1.3% 558
0 =203 42,855,000 *4.5% 1,929
0 LOIEDIQAESH 1,301,000&*3.275% 43
201 L2 | 35,500 28,200 7,300
01 At22teld| 10,880 8,480 2,400
O S34EH= X2 5,440
0 JI2A2E83I 70,000& %291 140
0 R018H| =2 250,000&*12& 3,000
0 MIIHMUNSH =7 150,000& 12 1,800
0 JIEt==EH| 500,000 500
O =2 M= |X2t 5,440
0 JIZ2AIRE3I 70,000& *22! 140
0 Ro1EH| =% 250,000+ 12& 3,000
0 &It =2 150,000& 123 1,800
0 JIEt=&8I 500,000& 500
02 2223l 24,620 19,720 4,900
O 23294l 19,620
0 S3UE= 2323 & HAl 9,540
o S3ME= I3 700,000+ 122 8,400
o S3ME= M3 30,0002 *12& 360
0 S3ME= Y 23 30,0002« 12& 360
0 SIMHE YT 23
35,0003+ 123 420
0 =2tz 2323 & HA 10,080
o =EME= MIIRS 700,000+ 12& 8,400
o TEME= N33 360,000& 360
0 SHMHE OEHURS  60,0002128 720
0 EHMHE HoE 23
50,0002« 12& 600
O AEZEHISAIL 5,000
0 S34EH= 22l &l S 2,000,000 2,000
0 =EME= 22| &l S 2,000,000& 2,000
0 MEH=2tel ZH| 22ltl 1,000,000& 1,000
206 M=z 4l 40,000 1,750 38,250
01 MZHl 40,000 1,750 38,250
O MEfs == dif2el(2004)
5,000&*8,000% 40,000
401 AlEHIZ 2| 50,000 0 50,000
01 Al&H| 50,000 0 50,000
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